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EJETS 16920 38526 18,787 19,739
RAT 5% 1,244 2,961 1,453 1,508
AR 55 164 79 85
SH 516 1,087 539 548
RE 911 2,281 1,133 1,148
& ER 1,449 3,262 1,606 1,656
JtREFE1TH 315 637 251 386
JtREFE2TH 90 174 69 105
JEREFEITH 131 301 149 152
tREFEATH 211 401 160 241
B 747 1,513 629 884
=2 627 1,393 657 736
INF 424 906 459 447
INERE 484 1,236 623 613
SOEH/1TH 375 869 412 457
SOEHm™2TH 399 926 438 488
SOEHH/ITH 262 629 307 322
g 1,036 2,424 1,157 1,267
SOEHHE1TH 235 551 266 285
SOEHHE2TH 367 883 427 456
SOEHHEITH 471 1,116 533 583
g 1,073 2,550 1,226 1,324
B1E 624 1,361 669 692
=3 446 1,002 478 524
EFEA1TH 281 623 307 316
EFEE2TH 215 459 241 218
g 496 1,082 548 534
ANFH 737 1,720 844 876
KiE 315 783 391 392
2R 1,477 3,663 1,866 1,797
At 481 1,086 554 532
i 6 13 5 8
TE 1,445 3,044 1,461 1,583
=17 340 745 360 385
BERE 1,330 3,001 1,471 1,530
BREHFE1ITE 227 461 200 261
BREFE2THE 79 152 63 89
BAREFEITHE 228 452 190 262
g 534 1,065 453 612
A#&E1TH 86 143 90 53
A#@&E2TH 27 29 26 3
A+@&4TH 10 12 10 2
B 123 184 126 58
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